AT Implementation Requires Change
A+B+C>X=Change
Garmston and Wells
A= Shared dissatisfaction with the current state by a critical mass (Consideration)
B= Shared vision of the desired state by a critical mass (IEP)
C= Practical steps for getting from A to B (implementation plan)
X= Costs of change
Your Implementation Challenge
	YES
	NO
	
	Actions to be taken

	
	
	Does the team have shared dissatisfaction with the student’s current educational program?
· Do most team members agree that the student’s program is not adequate to help the student make progress?
· Do most team members agree that a change in the program would be beneficial?
	

	
	
	Does the team share the vision of the way that AT will help the student increase functional capabilities?

· Do team members agree that appropriate AT use will be beneficial to the student
· Do all team members agree that the selected AT is 
· Does the student agree to the AT use?
	

	
	
	Has the team described the practical steps for implementing the student’s AT use?

· Has an implementation plan been developed?
· Do team members have a clear picture of how the student will use the AT?
· Do team members understand their role in helping the student use AT?
	

	
	
	[bookmark: _GoBack]Is the use of AT more beneficial than the costs of making the change to new AT use?

· For the student?
· For the family?
· For all staff members who will support the student?

	



